Kat. cislo

Ks

Cislo vykresu

¥ v 12 03 01 1 Téleso 0-140-013-4734

R O Z Va d e c 12 03 02 2 Koule 0-140-004-4736
12 03 03 2 Tésnici krouzek Cu 30 CSN 02 9310.8
12 03 04 2 Cepkoule 0-140-038-7341
12 03 05 2 Cep 0-140-147-5025
12 03 06 4 "O"krouzek 16x2 CSN 02 9280.1
12 03 07 2 Voditko Cepu 0-140-026-7511
12 03 08 2 "O" krouzek 36x2 CSN 02 9281.1
12 03 09 6 Sroub M6x16 CSN 02 1151.25
12 03 10 2 Sroub 90-003-5239
12 03 1M1 2 Paka uplna 0-140-115-7471
12 03 12 2 Kryt primér 40-10 0-140-006-3526
12 03 13 2 Sroub M6x16 CSN 02 1155.25
12 03 14 2 Matka tésnéni 0-140-083-5286
12 03 15 4 "O"krouzek 110x3 CSN 02 9281.1
12 03 16 2 Tésnénikoule 0-140-080-5416
12 03 17 2 Matkall. 0-140-014-5255
12 03 18 2 Priruba spojky 0-140-135-5351
12 03 19 9 Sroub M8x22 CSN 02 1178.25
12 03 20 3 Sroub M8x28 CSN 02 1178.25
12 03 21 12 Podlozka 8,4 CSN 02 1701.05
12 03 22 16 Podlozka 8,2 CSN 02 1740.05
12 03 23 16 Matka M8 CSN 02 1401.25
12 03 24 1 PfFiruba voditka 0-140-133-5351
12 03 25 1 "O" krouzek 16x2 CSN 02 9281.1
12 03 26 4 Sroub M6x18 CSN 02 1178.25
12 03 27 4 Podlozka 6,4 CSN 02 1701.05
12 03 28 4 Podlozka 6,1 CSN 02 1740.05
12 03 29 4 Matka M6 CSN 02 1401.25
12 03 30 1 Tyc¢ tplna 0-140-012-7118A
12 03 31 1 Tésnéni 0-140-081-5416
12 03 32 1 Spodni podlozka 0-140-149-5101
12 03 33 5 MatkaM10 CSN 02 1401.25
12 03 34 2 "O"krouzek 85x3 CSN 02 9281.1
12 03 35 1 Pfiruba sedla 0-140-134-5351
12 03 36 4 SroubM10x35 CSN 02 1178.25
12 03 37 4 Podlozka 10,5 CSN 02 1701.05
12 03 38 4 Podlozka 10,2 CSN 02 1740.05
12 03 39 4 SroubM8x14 CSN 02 1178.25
12 03 40 2 Tésnici krouzek 10x14 CSN 02 9310.8
12 03 M 2 Vypoustéci kohout 24-9618-072
12 03 42 2 Spojka75 CSN 38 9461
12 03 43 2 Tésnéni - soucast spojky 75
12 03 44 2 Tésnéni - soucast spojky 75

PROBO - Petr Machara

tel/fax: +420 487 723 993
Rumburskych hrdin 819 mobil: +420 777 182 814

email: info@probo-nb.cz

www.probo-nb.cz

473 01 Novy Bor tel. SR +421 944 316 416



